/DVIRB

3RPLHV]F]HQLH 5RINiDG =%

7\J

7N 7N 7N 7N 7N
<
= 3UDZR PLCG]\QDIRGRZH 3RVICSRZDQLH NDUQH 3RVICSRZDQLH NDUQH -RQZHWDIRUXP /RIIND SUDZQIF]D ZDU G
= SXEIF]QH ZDU GU ZDU GU %DUIQIN ORQIND ZDU GU %DUIQIN ORQIND NIHUIXQNRZH GR Z\ERUX U 3DIXV]HN - DURIQD =%
0) DQUHZVND *RIRID =% =% 35% - =% 35% - 1 SIRI 1Z GUKDE 35% *
T 35% - =35 - $5 7ISLEVN. STHNVDQGHU =% - $5
g =$5 $"00 -
n BRIVNH SUDZR RRFKIRQ\
GURGRZIVND
7N 7N 7N 7N 7N 7N
3UTHGPIRI GR Z\ERUX ] 3UTHGPIRI GR Z\ERUX ]
SUJHGPLRI GR Z\ERUX - RQZHWDIRUXP 3UDZR DGPLQWVILDF\IQH 3UTHGPIRI GR Z\E ., GU TDNUHVX QDXN TDNUHVX QDXN
= NFUIXQNRZN PV NIHUXQNRZH GR Z\ERUX FIC6G RIYIQD 0Z PJU 64\V] SIHNVDQGHU =% KXPDQVNFJQ\FK SURI KXPDQVINFIQ\FK SURI
I = DIFJDN - RZDIN %HDID 1 PJU zDFION ZDIFJDN - RZDIN %HDID 35% " = ZyIFIN = HViDZ =% ZyIFIN = HViDZ =%
g =% $0/ ; RéD-JLN HHDID =% =% $0/ 3UDZR VSRURZH $70/ = $"0/ =
N : oo = & IRV VEXTEN SXEIF]QHI D =DJDGQUHQIH
8Villyl L JDGDQID 8Vilyll RIIDQYZ RFKIRQ\ DZRG\ JOXIDQD VSUDZIHGILZRGFL QD H
DGPLQIVIUDFIL U]aGRZHI GURGRZIVND VSRIHF]QHIR 7\G]IHE ZDURGFL VSREHF]Q\FK
1DICFD  PLOXI 7\G]HE DICLFD
‘ PLOXII
7N 7N 7N 7N
-67 Z VIHPLH RFKIRQ\ = DUV]IDI GR Z\ERIX ] = DUV]IDI GR Z\ERIX ] = DUV]IDI GR Z\ERIX ]
EH]S L SRU] SXENF]QHJR GU ™ JIXE _UT\V]IRI =% GU " JIXE _UT\V]IRI =% GU " JIXE UT\V]IRI =%
Z GUKDE %RIXVIDZ 35% - 35% " 35% ~
3UT\ZRID SIRI 8-~ =% - $5 =35 =35
$700 %6 3UDZR NDQRQLFIQH 3UDZR NDQRQLFIQH 3UDZR NDQRQIFJQH
A ZINJRGQX  TDICFID
T} PLOXII
x
I 7N
QUINIXFIH
2PEXGVPDQyZ Z 3RIVFH
18( Z G "HAQJ =JiXN
$QQD =% $70
(0] $2
ZINJRGQX  ]DICFID
PLOXII
7N 7N 7N 7N 7N
GHPLQDUXP G\SRPRZH 3UDZR SIDF\ UZ .DF]P 3UTHGPIRI GR Z\ERUX 7HFKQINL QHIRFIDFIL L SUTHGPIRI GR Z\ERIX
SIRI 1Z GUKDE DUT\N = UHFND NHUXQNRZA JUXSD $ . DF PHGLDFIL Z DGPLQIVIUDFIL NFUXQNRZN  GU
BNRIQLFNL - UT\V]IRI =% ODJGDHQD =% TPDUI\N = UIHFND 4Z “UJHZIHFND (ZD = _ XFKDUVNL 2131HIG =%
$"00 = $"0/ & ODJGDIHQD =% % $"0/ & $"0/ =
z = $700 = ZINJRGQX  JDICFID SHJXIDFIH SUDZQH
I RG] (HPHQN SIDZD PLOXI EH]SIHFTHEVIZD SUDF\
=2 OHIRGRIRJD EDGDE QDG PHG\F]QHJR
N EH]SIHFTHEWIZHP 7N
-~ ZDWVID\ SURI -U]DN
i fQGU]ﬁ’;E% %1 ZHFKQIN. QHIRFIDFIL L

PHGLDFIL Z DGPLQLVIUDFIL
UZ “UJHZIHFND (ZD =
% $"0/ &

ZWJRGQX  JDICFID
PLQXI RG JRG]LO\




/DVIRB

3RPLHV]F]HQLH 5RINiDG =%

7\J

=%

"JHE RIZDUN 8-*

7\6]

7\J

)LQDQVH SXEIFQH L SUDZA

7\J

)LQDQVH SXEIFQH L SUDZA

7\6]

3UDZR RFKURQ\ SUDF\ GU
- XFKDUVNL 20JIHIG =%

7\6]

3UDZR RFKURQ\ SUDF\ GU
- XFKDUVNL 20JIHIG =%

IQDQVRZH FZ~ B]HFyZN IQDQVRZH FZ B]HFyZN $°05 = $°05 =
D 3DZHi =% D 3DZHi =%
z $°0/ & $°0/ & 7\G] 7\G]
= U JDICFLD IDN U JDICFLD IDN 3RVICSRZDQH NDUQH Z 3RVICSRZDQH NDUQH Z
Q Z SialHN Z SialHN GU %DUIQIN ORQIND =% GU %DUIQIN ORQIND =%
n 35% - - 35% - =
7\G] 7\C]
3UDZR SIDF\ Z G 3UDZR SIDF\ Z G
_XFKDUWNL 21JIHIG =% _XFKDUWNL 21JIHIG =%
$"05 - $"05 -
7\G] 7N 7N 7N 7N
=DU\V SUDZD 3UDZR NDIQH Z Gl 3UDZR NDIQH Z GU 3UDZR F\ZUQH SUDZR _
G] VSDGNRZHJIR PJU = UyEH) $SGDP =% = UyEH) $GDP =% UJHFIRZH PJU 3RVICSRZDQIH G]
=DU\V - ZIDINRZVND . DURIQD = 35 = - 35 = - _ZIDINRZVND . DURIQD = DGPLQIVIUDF\IQH L 3UDZR
hy) % $"05 . % 35 - VaGRZRDGPLQIVIDF\IQH RFKURQ\
VSDGNRZHJ 7\6] 7\6] =35 Z Gl = yiFIFND (ZD =% SUDF\ GU
R P 7N _ - 356 = - ~ XFKDUVN.
‘ =DV SUDZD =DU\V SUDZD N
Lo =DIAV SIDZD VSDGNRZHIR PJU VSDGNRZHIR PJU _ 6] — 2WIHIG =%
 RIOD = VSDGNRZHJR PJU - ZIDINRZVND . DURIQD = - ZIDINRZVND . DURIQD = 3RVICSRZDQH ] 605
p QD = - ZIDINRZVND . DURIQD = % $"05 . % $"05 . DGPIQLVIUDFIQH L 3UDZR RFKURQ\ SUDF\ G 2
405 % $"05 . VaGRZRDGPIQIVIDF\IQH _XFKDUWNL 21JIHIG =% :
7\G] 7\G] ZDU Gl = yIFIFND (2D $°05 =
- 7] 3DZR SDF\ Z Gl 3DZR SDF\ Z Gl =_°/;5 35% - =
a 3UDZR SIDR\ Z Gl _ XFKDUVNL 2131HIG =% _ XFKDUVNL 2131HIG =% : ——
= _ XFKDUVNL 2131HIG =% $"05 = $"05 = +IVIRUD P\GL XVIIRIRZR
w $"05 - 7\G] DGP L VRFIRIRIIFIQR
o« 7N 7N 3UDZR NDIQH Z GU HNRQ Z PJU ODNXFK
=DV SUDZD 3UDZR F\ZUQH  SUDZR : gysE;U $GDP =% gLFKDgaL =% $70
VSDGNRZHJR PJU UJHFIRZH PJU = =
- ZIDINRZVND . DURIQD = ~ZIDINRZVND . DURIQD = Z N RG
% $"05 . % 35%$ -
:$5 7\G]
7] 3UDZR NDUIQH Z GU
3UDZR SIDF\ Z Gl G] = UyEH $GDP =%
_ XFKDUVNL 2131HIG =% 3UDZR RFKURQ\ SUDF\ GU 35 = -
$"05 = _ XFKDUVNL 213IHIG =%
$"05 -
7\6]
3UDZR RFKURQ\ SUDF\ G
_XFKDUWNL 21JIHIG =%
$"05 -
7N 7N 7\G] 7\G] 7\G] 7\G]
+VIRUD P\GL XVIIRIRZR +IVIRUD P\GL XVIIRIRZR 3UDZR NDUQH ZDU 5XVIQ 3UDZR NDUQH ZDU 5XVIQ 7HFKQIN. QHIRFIDFIL | 7HFKQIN. QHIRFIDFIL |
DGP LVRFRRJFJOR DGP L VRFRRJFJOR RZVN. 3UJHP\ViDZ Gl = RZVN. 3UJHP\ViDZ Gl = PHGLDFIL Z DGPIQIVILDFL PHGLDFIL Z DGPIQIVIUDFL
HNRQ Z PJU ODNXFK HNRQ iz PJU ODNXFK % 35% - % 35% - U4Z “UJHZIHFND (ZD = 4Z “UJHZIHFND (ZD =
a OLFKD: =% $"0 OLFKD: =% $"0 :$5 :$5 % $°05 & % $"°05 &
= 6 & 6 &
= Z NI RG Z N RG ™ ™ ™ ™
Q 3UDZR DGPIQVIIDFAIGH 3UDZR DGPLQIVILDF\IQH 3UDZR NDUQH ZDU 5XVIQ
2 7N FIC6G RIYIQD GZ aD]XI FIC6G RIYIQD GZ aD]XI - RQVINIXFUIQN VAVIHP RZVNL 3UJHP\ViDZ GU =
JHIVIDFD ND *DZCGD 3DXIQD GU = ND *DZCGD 3DXIQD GU = RUIDQyZ SDEVIZRZ\FK % 35%$ -
: % $°05 & % $°05 & = SIRI 1z GU KDE -$5

DGPLQIVIUDF\IQD GiZ GU
KDE %RJXViDZ 3UJ\ZRUD
SIRI 8-" =%
$"05 &

*UJ\ERZVNL ODUDQ =%
$"05 :




/DVIRB

3RPLHV]F]HQLH 5RINiDG =%

7\J

QLHG]LHOD

7\6]

/HIVIDFID
DGPIQIVIUDF
\IQD UZ G
U KDE
%RIXVIDZ
3UJ\ZRID
SIRI 8-~
=0

$"05
&

7\6]

/HJLVIDFID
DGPLQVILDF\IQD tZ GU
KDE %RJIXViDZ 3UJ\ZRUD
SIRI 8-" =%

$"05 &

7\6]

+VIRUD P\GIL XVILRIRZR
DGP L VRRIRIRILFIQR
HNRQ UZ PJU ODNXFK
OLFKD: =% $"0
6 &

Z N\J RG

7\J

- RQVINIXFNIQ\ VAVIHP
RUJIDQyZ SDEVIZRZ\FK
= SRl ]Z GU KDE
*UJ\ERZVNL ODUDQ =%

$"05 :

7\J

3UDZR NDUQH ZDU 5XVIQ
RZVNL 3UJHP\ViDZ GU =
% 35% :

-$5

7\6]

/HJLVIDFID
DGPLQILDF\IQD tZ GU
KDE %RJIXVIiDZ 3UJ\ZRUD
SIRI 8-" =%

$"05 &

7\G]

3UDZR SDF\ UZ .DF]P
DUJ\N = LIHFND
ODJGDIHQD =%

$"05 &

7\6]

3UDZR

SUIDF\ iZ

_DF]PDUI\

N = UIHFND

ODJGDIHQD

=%
$"05
&




